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Exponential Equations

An exponential equation is an equation in which the variable is in the exponent.
When bases are not the same, follow these steps:

Steps: Example:

1. Express each side of the equation 273= 64
in terms of the same base.

2. Set the exponents equal.

3. Solve. X‘3 '4(’
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1. 423z 4x+1 2. Bl-3xz 2Bx

2 :xel 143 5. g

43 X3 -27=2x X3
Ao q +3x +3x

3. 9x=27x-1 4, 813*3:= 9 o’( i '3
32x . 33(x-|) ?2(3x.-'s): 9

Ix - 3x-3 ox +6- |

*x 3 3 Gy S R
-X: ‘3 : 'S/

¥:3

5. 1252x= 2Bx1 x 6 |L] e
16

53(-2,‘\: 52(;.4) (c"r‘»\ 47_,\ 43(:—«)
-(m( o_x,?_ -2x =3 -3
_x_ _Zx '4} 'i +3(

S

Nov 14-5:45 PM

Nov 14-5:46 PM

If you can't get a common base...
Steps: 9 =43
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1. Isolate the exponential term

2. Take the log of bothsides. (Inif
ake the log of bothsides. (Inif e) x'o99=|0913
3. Use the power rule. —_—
4. Isolatethevariable. (%a '% q
5. Use calculator! z l 7' L
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